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Principle of potentiometer when a steady current is passed through a
potentiometer wire AB of length L, and V is the potential difference across
wire AB, then

Potentialgradient k%
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“R+Rpq  480-20

=8x10A

Vpg = | Rpg = 8 x 1072 x 20 = 0.16 Volt.
Vpg 0.16
Potential gradient k:Q m:v/cm
=
Ay= 22197 400 — 100cm
0.16

Define photoelectric effect

(i) Since Intensity is same, . number of electrons emitted per second
remain same

(i) K. Emax a ha

Pictet > Fpiue

(E-Enadvoier > (K- Emadoise

(a) angle of incidence is equal to the angle of emergence, for minimum
deviation position

Refer NCERT
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